INSTALLATION GUIDE FOR THE DOCUMENT PROCESSOR

GUIDE D'INSTALLATION POUR LE PROCESSEUR DE
DOCUMENT

GUIA DE INSTALACION PARA EL PROCESADOR DE
DOCUMENTOS

INSTALLATIONSANLEITUNG FUR DOKUMENTENPROZESSOR
GUIDA ALL'INSTALLAZIONE DEL PROCESSORE DI DOCUMENT!I
R B BhirgR i B R TF M
FREENED XREREFIES

1 WJINLIN




Change of Procedure in
Installation Guide

Descriptions in the installation guide for the
document processor are changed as follows.

@ Change of supplied parts on page 1

(© Chrome TP screw M4 X 10 ....c.cooveeineiucrniieineeees 2
|
(© TP Taptite chromate screw M4 x 10 .........cccoucee.e. 2

(@ Change of step 8 on page 3
8. Clean the pasting position for the label in a language (F)
with alcohol.
Paste the caution label (F) that corresponds to the language
according to the destination to the DP (&).

Only if the document processor is installed to the
MFP, change of descriptions written in 3) to (6) is
applicable (MFP = KM-1650/2050/2550).

(® Step 7 on page 3 is deleted.

The connector protecting plate (@) is not used for the
MFP.

@

-

@ ®

@ Change of description of maintenance mode 070 (sub-scan line adjustment) on page 5

1.

Run maintenance mode 070.

Select CONVEY SPEED1.

(For adjustment of the back side in duplex copying,
select CONVEY SPEED2.)

Set originals in the original tray and press the Interrupt

key. Make a test copy to check the image.
If an adequate image cannot be obtained, carry out
the following adjustment.

2. Original a
For copy example d: decrease the value.
For copy example e: increase the value.
Setting range: -25 - +25
Changing the value by one changes the sub-scan line by 0.1%.
A smaller setting value makes the copy image shorter. A larger value makes the image longer.

Changement de procédure
dans le guide d'installation
Les descriptions contenues dans le guide

d'installation du processeur de document ont
été changées comme suit.

(® Changement relatif aux piéces fournies a la page 1

© Vis TP chromée M4 X 10 .......cccviniininiiininicenn. 2
i
(© Vis chromée taptite TP M4 X 10 ....ccveeiuerveriecennne. 2

(@ Changement relatif a I'étape 8 a la page 3
8. Nettoyez la position de collage de I'étiquette dans une
langue (F) avec de l'alcool.
Collez I'étiquette d'avertissement (F) qui correspond a la
langue appropriée pour la destination du DP (®).

Seulement dans le cas ou le processeur de
document est installé sur un MFP, le
changement des descriptions figurant aux
sections (3) a (¢) est applicable.

(® L'étape 7 de la page 3 a été supprimée.
La plaque de protection du connecteur (@) n'est pas
utilisée pour le MFP.

(@ Changement de la description du mode d’entretien 070 (réglage de la ligne de balayage secondaire) a la page 5

1.

Exécutez le mode d’entretien 070.

Sélectionnez CONVEY SPEED1.

(Pour le réglage du c6té arriere en copie recto-verso,
sélectionnez CONVEY SPEED2.)

Placez les originaux dans le plateau a originaux puis
appuyez sur la touche d'interruption de copie.
Effectuez une copie de test pour vérifier I'image. S'il
est impossible d'obtenir une image adéquate,
effectuez le réglage suivant.

2. Original a
Pour 'exemple de copie d: diminuer la valeur.
Pour 'exemple de copie e: augmenter la valeur.
Plage de parametres: -25 - +25
Lorsqu’on change la valeur d’'une unité, la ligne de balayage secondaire change de 0,1%.
Plus la valeur de réglage est petite, plus I'image de copie sera courte. Plus la valeur est grande, plus
l'image sera longue.

Cambio del procedimiento en
la guia de instalacion
Las descripciones en la guia de instalacion

para el procesador de documentos cambian
de la siguiente forma.

(@ Cambio de las piezas suministradas en la pagina 1
© Tornillo TP de cromo M4 X 10 .......ccccvvvvueveerieienene. 2
i

(© Tornillo cromado Taptite TP M4 X 10 ......ccceeenene. 2

(® Cambio del paso 8 en la pagina 3
8. Limpie la posicién de pegado para la etiqueta en un idioma
(F) con alcohol.
Pegue la etiqueta de precaucion (F) que corresponda al
idioma de acuerdo con el destino del DP ().

Sélo si el procesador de documentos esta
instalado en un MFP, se aplica el cambio de las
descripciones escritas en 3 a (6).

(® Se borra el paso 7 en la pagina 3.

No se utiliza la placa de proteccion del conector (@)
para el MFP.

(@ Cambio de la descripcién del modo de mantenimiento 070 (ajuste de linea de exploracién secundaria) en la pagina 5

1.

Active el modo de mantenimiento 070.

Seleccione CONVEY SPEED1.

(Para el ajuste del lado trasero en el copiado duplex,
seleccione CONVEY SPEED.)

Coloque los originales en la bandeja de originales y
presione la tecla de interrupcion.

Haga una copia de prueba para verificar la imagen.

Si no puede obtenerse una imagen adecuada, realice

el siguiente ajuste.

2. Original a
Para un ejemplo de copia d: disminuye el valor.
Para un ejemplo de copia e: aumenta el valor.
Gama de ajustes: -25 - +25
Un cambio de valor en una unidad cambia la linea de exploracién secundaria en 0,1%.
Un valor de ajuste menor hace que la imagen de copia sea mas corta. Un valor mayor hace que la
imagen sea mas larga.

Anderung des Verfahrens in
der Installationsanleitung

Die Beschreibungen in der
Installationsanleitung fir den
Dokumentenprozessor werden wie folgt
geéndert.

® Anderung der gelieferten Teile auf Seite 1
(© Chrom-TP-Schraube M4 X 10 ......ccccccvverireririrnnne 2
}

(© TP-Taptite-Chromschraube M4 x 10 ..........ccoce..... 2

@ Anderung von Schritt 8 auf Seite 3

8. Die Klebeposition fiir das Etikett in einer Sprache (F) mit
Alkohol reinigen.
Den Warnaufkleber (F), welcher der Sprache des
Bestimmungslands entspricht, am DP (&) anbringen.

Nur wenn der Dokumentenprozessor an einen
MFP installiert wird, sind die Anderungen der
Beschreibungen in (3) bis (6) zutreffend.

(® Schritt 7 auf Seite 3 wird geléscht.

Das Anschluss-Schutzblech @) wird nicht fiir den MFP
verwendet.

@® Anderung der Beschreibung des Wartungsmodus 070 (Einstellung der Nebenscanlinie) auf Seite 5

1.

Flhren Sie den Wartungsmodus 070 aus.

Wahlen Sie CONVEY SPEED1.

(Zur Einstellung der Rickseite beim Duplexkopieren
wéhlen Sie CONVEY SPEED2.)

Legen Sie die Originale in die Originalablage, und
dricken Sie die Unterbrechungstaste. Machen Sie
eine Probekopie, um das Bild zu Uberprifen.

Falls Sie kein einwandfreies Bild erhalten, fiihren Sie
die folgende Einstellung aus.

2. Original a
Fur Kopierbeispiel d: Verringern Sie den Wert.
Fir Kopierbeispiel e: Erhéhen Sie den Wert.
Einstellbereich: -25 - +25
Durch Andern des Werts um eins wird die Nebenscanlinie um 0,1 % verandert.
Ein kleinerer Einstellwert macht das Kopienbild kirzer. Ein gréBerer Wert macht das Bild langer.

Cambiamento di procedura
nella Guida all’installazione
Le descrizioni nella Guida all'installazione del

processore di documenti sono cambiate nel
seguente modo.

(@® Cambiamento delle parti fornite a pag. 1
© Vite TP M4 X 10iN CrOMO .....vueiiiccierecieee 2
i

(© Vite cromata TP Taptite M4 X 10 ....ccocovvevevieinnne. 2

(® Cambiamento del passo 8 a pag. 3
8. Pulire con l'alcol la parte sulla quale si vuole incollare
I'etichetta scritta nella lingua della zona di destinazione (F).
Incollare I'etichetta di avvertimento (F) scritta nella lingua
della zona di destinazione del DP ().

Il cambiamento delle descrizioni nei punti da 3 a
(® & applicabile solo se il processore di
documenti & installato su una copiatrice MFP.

® Il passo 7 a pag. 3 & eliminato.
La piastra di protezione del connettore (@ non &
utilizzata per la copiatrice MFP.

(@ Cambiamento della descrizione della modalita di manutenzione 070 (regolazione linea scansione ausiliare) a pag. 5

1.

Avviare la modalita di manutenzione 070.
Selezionare CONVEY SPEED1.

(Per la regolazione del retro del foglio nella copia
duplex, selezionare CONVEY SPEED2.)

Collocare gli originali nell’apposito vassoio e premere
il tasto di interruzione. Fare una copia di prova per
controllare 'immagine.

Se non si ottiene un'immagine soddisfacente,
eseguire le seguenti regolazioni.

2. Originale a
Per esempio copia d: diminuzione valore.
Per esempio copia e: aumento valore.
Gamma di impostazione: -25 - +25
Cambiando il valore di una unita si cambia la linea di scansione ausiliare di 0,1%.
Un valore di impostazione piu piccolo rende 'immagne riprodotta piu corta. Un valore piu grande rende
limmagine piu lunga.

ZERFMUTRTE

JEUR 9 Sk 4% B 22 TP AL R

® P1HtERE
© TPHEFEIZLEMA X 10, 2
!

(© TPHZLLE 4R R ERIZZZMA X 10 e 2

@ P3 S REMMNBEE
8. JHWTHE I 1 25 402 ® ML .
EDP @® LI 1 % 0k 1 5 0 AR5 ©

TUFRAEMEP 2248 J5U 5 Sg 4R BN, AR
® ~ ® MM

® P3 MBS BR7HIERS
MFP AT © et & m e it

@ P5 YR 070 (A EAMEHNAE) NEE

1.

ATHEEHEL070,

P CONVEY SPEEDI,

(U RS DU S EDISS 1) W THTNS, E

CONVEY SPEED2, )

IR ACE AL b, 3% R, AR,
PABIAEMRACR, HARIK S ZOR BRI, W4T
ot — 2B .

2. #IFEH @

W EIFEAR (@) I e (i

WA ENREAR () I B s sE (i

WETLH: 25 -+25

TR A (b 0.1%

FWVE, IR A, HINE M, ZEEGRaSEEK,

REFIEEDFIEZE

FREEEDKERETFIEECHLTRDOA
BOEEICHEDFET,

@ PI1. BREE

©TP7EI—AI:“XLI\/I4><1O .................. I ...... UI “

© TPEYTFA MIOX—MEAMAXTO, Lo 0 (ke

| %D%E%MFPI:%%@%%@@E}\
©® PREDEE[CHEDET.

@ P3. FlE8 NEEE

8. EBEINIL @ DMEORIFIEZ. PILI—ILTERI o
AEFICADETHEIZEHRTNIL @ . DP @ (8
DIFFB.

® P3. FIE7 FIE4S

© IRV YREZEIRIMFPICIFERLE A,

@ P5. XUFFYRAE—RO70 BIEEROARE) NBEE

1.

AVTFIAE—RO70ZETI D,

CONVEY SPEED 1 7Z2EIR3 2.
(MEIE—BOEEZRFET D5HEE. CONVEY

SPEED27Z#EIRT B, )

B LA ICFERsZE LY bU. BIDAHF—7=H T,

TANIE—ZH TV, BRZESET Do

BIESERMESTEWVEEEXDRAEZITD.

2. 78 @

JE=Y2 T @ DA,
JE—Y2T)L (@ DBE.
REHHE | -25~+25
127w ITDEEE 0.1%

REMEZTIDEIE—BEHENMEED. REEZ LTS EIE—ERIRLED,

HREZ T D,
EEEZ LITD,

2004. 4
303HL81710


fschellekens
KM-1650/2050/2550).

fschellekens
MFP

fschellekens
MFP,

fschellekens
Only if the document processor is installed to the

fschellekens
change of descriptions written in 3 to 6 is

fschellekens
applicable


N ®@ ® ©)

(® Change of description of maintenance mode 071 (leading edge timing adjustment) on page 6

1. Run maintenance mode 071.
Select LEAD1.
(For adjustment of the back side in duplex copying,
select LEAD2.)
Set originals in the original tray and press the Interrupt
key. Make a test copy to check the image.
If an adequate image cannot be obtained, carry out
the following adjustment.

2. Original a
For copy example f: increase the value.
For copy example g: decrease the value.
Setting range: -32 - +32
Changing the value by one moves the leading edge by 0.2 mm.
The larger the value, the later the image scan start timing.
The smaller the value, the earlier the image scan start timing.

N ®@

® ®

Change of maintenance mode 072 (center line adjustment) on page 7

1. Run maintenance mode 072.
Select 1sided.
(For adjustment of the front side in duplex copying,
select 2sided front. For adjustment of the back side,
select 2sided back.)
Set originals in the original tray and press the Interrupt
key. Make a test copy to check the image.

If an adequate image cannot be obtained, carry out the following adjustment.
2. Original a

For copy example h: increase the value.

For copy example i: decrease the value.

Setting range: -39 - +39

Changing the value by one moves the center line by 0.1 mm.

The larger the value, the center of the image moves toward the right.

The smaller the value, the center of the image moves toward the left.

(® Changement de la description du mode d’entretien 071 (réglage de la synchronisation du bord avant) a la page 6

1. Exécutez le mode d’entretien 071.
Sélectionnez LEAD1.
(Pour le réglage du c6té arriere en copie recto-verso,
sélectionnez LEAD2.)
Placez les originaux dans le plateau a originaux puis
appuyez sur la touche d'interruption de copie.
Effectuez une copie de test pour vérifier I'image. S'il
est impossible d'obtenir une image adéquate,
effectuez le réglage suivant.

2. Original a
Pour 'exemple de copie f: augmenter la valeur.
Pour 'exemple de copie g: diminuer la valeur.
Plage de paramétres: -32 - +32
Lorsqu’on change la valeur d’une unité, le bord avant se déplace de 0,2 mm.
Plus la valeur est grande, plus la synchronisation du démarrage du balayage d’image est retardé.
Plus la valeur est petite, plus la synchronisation du démarrage du balayage d'image est avancé.

(® Changement du mode d’entretien 072 (réglage de I'axe) a la page 7

1. Exécutez le mode d’entretien 072.
Sélectionnez 1sided.
(Pour le réglage du c6té avant en copie recto-verso,
sélectionnez 2sided front. Pour le réglage du c6té
arriere, sélectionnez 2sided back.)
Placez les originaux dans le plateau a originaux puis
appuyez sur la touche d'interruption de copie.
Effectuez une copie de test pour vérifier I'image.

S'il est impossible d'obtenir une image adéquate, effectuez le réglage suivant.
2. Original a

Pour 'exemple de copie h: augmenter la valeur.

Pour 'exemple de copie i: diminuer la valeur.

Plage de parametres: -39 - +39

Lorsqu’on change la valeur d’une unité, la ligne centrale se déplace de 0,1 mm.

Plus la valeur est grande, plus le centre de 'image est déplacé vers la droite.

Plus la valeur est petite, plus le centre de I'image est déplacé vers la gauche.

(® Cambio de la descripcién del modo de mantenimiento 071 (ajuste de la sincronizacién de extremo guia) en la pagina 6

1. Active el modo de mantenimiento 071.
Seleccione LEAD1.
(Para el ajuste del lado trasero en el copiado duplex,
seleccione LEAD2.)
Cologue los originales en la bandeja de originales y
presione la tecla de interrupcion.
Haga una copia de prueba para verificar la imagen.
Si no puede obtenerse una imagen adecuada, realice
el siguiente ajuste.

2. Original a
Para un ejemplo de copia f: aumenta el valor.
Para un ejemplo de copia g: disminuye el valor.
Gama de ajustes: -32 - +32
Un cambio de valor en una unidad mueve el extremo guia en 0,2 mm.
A mayor valor, mas tarda el inicio de exploracién de imagen.
A menor valor, mas temprano es el inicio de exploracion de imagen.

(® Cambio del modo de mantenimiento 072 (ajuste de linea del centro) en la pagina 7

1. Active el modo de mantenimiento 072.
Seleccione 1sided.
(Para el ajuste del lado delantero en el copiado
duplex, seleccione 2sided front. Para el ajuste del
lado trasero, seleccione 2sided back.)
Coloque los originales en la bandeja de originales y
presione la tecla de interrupcion.
Haga una copia de prueba para verificar la imagen.

Si no puede obtenerse una imagen adecuada, realice el siguiente ajuste.
2. Original a

Para un ejemplo de copia h: aumenta el valor

Para un ejemplo de copia i: disminuye el valor

Gama de ajustes: -39 - +39

Un cambio de valor en una unidad mueve la linea de centro en 0,1 mm.

A mayor valor, el centro de la imagen se mueve hacia la derecha.

A menor valor el centro de la imagen se mueve hacia la izquierda.

(® Anderung der Beschreibung des Wartungsmodus 071 (Synchronisationseinstellung fiir Vorderkante) auf Seite 6

1. Fuhren Sie den Wartungsmodus 071 aus.
Wahlen Sie LEAD1.
(Zur Einstellung der Riickseite beim Duplexkopieren
wahlen Sie LEAD2.)
Legen Sie die Originale in die Originalablage, und
dricken Sie die Unterbrechungstaste. Machen Sie
eine Probekopie, um das Bild zu tberprifen.
Falls Sie kein einwandfreies Bild erhalten, flihren Sie
die folgende Einstellung aus.

2. Original a
Fur Kopierbeispiel f: Erhéhen Sie den Wert.
Fir Kopierbeispiel g: Verringern Sie den Wert.
Einstellbereich: -32 - +32
Durch Andern des Werts um eins wird die Vorderkante um 0,2 mm verschoben.
Je gréBer der Wert ist, desto spater erfolgt die Synchronisation des Bildscanstarts.
Je kleiner der Wert ist, desto friher erfolgt die Synchronisation des Bildscanstarts.

Anderung des Wartungsmodus 072 (Einstellung fiir Mittellinie) auf Seite 7

1. Fuhren Sie den Wartungsmodus 072 aus.
Wabhlen Sie 1sided.
(Zur Einstellung der Vorderseite beim Duplexkopieren
wahlen Sie 2sided front. Zur Einstellung der Rickseite
waéhlen Sie 2sided back.)
Legen Sie die Originale in die Originalablage, und
driicken Sie die Unterbrechungstaste. Machen Sie
eine Probekopie, um das Bild zu tberprifen.

Falls Sie kein einwandfreies Bild erhalten, flihren Sie die folgende Einstellung aus.
2. Original a

Fir Kopierbeispiel h: Erhéhen Sie den Wert.

Fur Kopierbeispiel i: Verringern Sie den Wert.

Einstellbereich: -39 - +39

Durch Andern des Werts um eins wird die Mittellinie um 0,1 mm verschoben.

Durch Erhéhen des Werts wird die Mitte des Bildes nach rechts verschoben.

Durch Verringern des Werts wird die Mitte des Bildes nach links verschoben.

(® Cambiamento della descrizione della modalita di manutenzione 071 (regolazione fasatura del bordo entrata) a pag. 6

1. Avviare la modalita di manutenzione 071.
Selezionare LEAD1.
(Per la regolazione del retro del foglio nella copia
duplex, selezionare LEAD2.)
Collocare gli originali nell’apposito vassoio e premere
il tasto di interruzione. Fare una copia di prova per
controllare 'immagine.
Se non si ottiene un'immagine soddisfacente,
eseguire le seguenti regolazioni.

2. Originale a
Per esempio copia f: aumento valore.
Per esempio copia g: diminuzione valore.
Gamma di impostazione: -32 - +32
Cambiando il valore di una unita si sposta il bordo di entrata di 0,2 mm.
Piu il valore & grande, piu ritarda il tempo di inizio scansione immagine.
Piu il valore & piccolo, piu anticipa il tempo di inizio scansione immagine.

(® Cambiamento della modalita di manutenzione 072 (regolazione linea centrale) a pag.7

1. Avviare la modalita di manutenzione 072.
Selezionare 1sided.
(Per la regolazione del lato frontale del foglio nella
copia duplex, selezionare 2sided front. Per la
regolazione del retro del foglio, selezionare 2sided
back.)
Collocare gli originali nell’apposito vassoio e premere
il tasto di interruzione. Fare una copia di prova per
controllare 'immagine.

Se non si ottiene un'immagine soddisfacente, eseguire le seguenti regolazioni.
2. Originale a

Per esempio copia h: aumento valore.

Per esempio copia i: diminuzione valore.

Gamma di impostazione: -39 - +39

Cambiando il valore di una unita si sposta la linea centrale di 0,1 mm.

Piu il valore & grande, piu il centro dellimmagine si sposa verso destra.

Piu il valore & piccolo, piu il centro dellimmagine si sposa verso sinistra.

® P6 #EER071(RIIHEGERHEAR) MASE
1. T4 071,
PEFFLEADI,
G VU &2 BRI Y R TN, $EFRLEAD2, )
e R e R AR b, H R, HETIEED,
DITRIAEMGROR, R B B R IEMR S, AT
HE— 25 [ %,

2. #5R @
IR ENFEAR (O I S 2 (i
WS ENFEAR (@ I A (il
WL -32-+32
TR fE & 0.2mm
FEIMUEE M, WAER FFAG IR RS, DR e, R AT LG R AR,

® P7 #EER072(RLIBEMNEE) AR TE
1. PuATHEERR072,
e 1sided,
(R AT 2 EPR (9 2 B, 1e$E2sided front,
AL, EFF2sided back, )
e R e R AR b, A, JETIR AR ED,
DUTRINEMGROR, AR B R ER 3, kAT
HE— 21 IR,

2. #HEH @

A ENREA () I S E

kA @ B b E

P EJEE: -39 -+39

THAL A A i 0.1mm

A E M, W EPE SR DAL B A W, B (B, 05 BRI i O ) 72 06 8%

®PB. XYFFYRE—RO71 (iR (1 VI DHE) AEEE

1. AVFFYAE—RO7 1 BT B 2 BB @ U I “ ‘E l ‘

LEAD 1 &R T . IE—HVIIL @ DiEE. BREELTS.
(BEIC—BOBEZEET 215404, LEAD2E -V T @ DIBE BEEET Ball i 4
EIRT B, ) SEHE [ -32~+32
B b LA [CRRgE LY L. BIDABF—EHT, 125w JOZALE : 0.2mm
FRNIE—EBTHL, BEERERT 2. DEEE B EEGFHABOMEI A SV IBLED, | BEEE T2 SERFEHABORS
EEBEENE ST MEAIERDEEETS . SASVIDRL LB,

P7. XUFFVRE—RO72 (EV5—([UBEDREE) ABEE

1. XUTFVRAE—RO72%ZEITI D,

1sidedZ®IRT %,
(MEIE—ROXREZRFE T 155 2sided

front. EEZREET DHEF2sided backZEIRT

%o )

B hUAICREEEY MU, BIDIAHF—ZRT,

FTARIE—=ZBIHEL), EiRZHERT D,

BIEFEEOE S NEWVMBAIFRDFZEEITS.

2. 7@

=52 TIL 0 DIFA. BEERE LIF2.

-9V TIL @ DFE. BEEZ TS,

SRTESA - -39~+39

127y TDOZ(EE  0.1mm

REEZ LFD @GO Y —MENGICEE L. REEEZ TNFHEIC—ER
DI —NENEICEET 2. 2004. 4

303HL81710



- J

Supplied parts
(B)DP mMain body ......cccoevrerieieieciirerrieieieene
PiN o
(© TP Taptite chromate screw M4 x 10
@ Fixing fiting ......coeeveeveiriecieecerenen
(®Bronze TP screw M3 x 06 .....
(F)Caution label............cccoevnee.e. .
(@ Connector protecting plate .........c.c.cccue....

Lipapna

Procedure
1. If the original holder is attached, remove it
and remove the two screws (1) from the top
rear cover.
2. Pass the two pins (B) through the screw
holes of the rear top cover and attach them
to the lower frame.

Pieces fournies Procédure
(® Corps principal du DP..........cccooveevriennnen. 1 1. Si le support d'original est fixé, le retirer et
® GOUPINIE oo .2 retirer les deux vis (1) du couvercle
(©) Vis chromée taptite TP M4 x 10 .. .2 supérieur arriére.
D FiXation ........cccceeeveerrenieeieenenne 1 2. Faites passer les deux goupilles (B) par les
(®)Vis TP en bronze M3 x 06 ..... .2 trous de vis du couvercle supérieur arriere
(F) Etiquette d'avertissement ................ 1 et fixez-les au cadre inférieur.
(@ Plaque de protection du connecteur ......... 1

m Piezas suministradas Procedimiento
® Cuerpo principal de DP .........cccccoovverenenee. 1 1. Si se instal6 el soporte original, desméntelo
Pasador ..o 2 y saque los dos tornillos (1) de la cubierta

©Tornillo cromado Taptite TP M4 x 10 ....... 2
©Herraje de fijacion ...........cccoceeeeerireenenen.

® Tornillo TP de bronce M3 x 06 .
(F) Etiqueta de precaucion ................
(@ Placa de proteccion del conector ............. 1

superior trasera.

2. Pase los dos pasadores (B) por los orificios
de tornillo de la cubierta superior trasera y
coléquelos en el marco inferior.

Gelieferte Teile Vorgang
() DP-Hauptgerat .........covueveveeeeenreseeeienee 1 1. Den Originalhalter abnehmen, falls er
®) Zylinderschraube ............ccceevreevrerenene .2 angebracht ist, und die zwei Schrauben (1)
(© TP-Taptite-Chromschraube M4 x 10 ........ 2 von der oberen Ruckabdeckung entfernen.
(© Montagebeschlag .........ccceevrenrrerenene w1 2. Die zwei Zylinderschrauben (8) durch die
(®)Bronze-TP-Schraube M3 x 06 .. 2 Schraubenlécher der hinteren oberen
® Warnaufkleber ...........c.ccccceruene. 1 Abdeckung einfiihren und am unteren
(@ Anschluss-Schutzblech ............cccovverienee. 1 Rahmen befestigen.
m Parti fornite Procedura
® Corpo principale del DP............ccoevvuenenee. 1 1. Se il sostegno originale & fissato, rimuoverlo
B PEMO .o .2 e rimuovere poi le due viti 1) dal coperchio
(©) Vite cromata TP Taptite M4 x 10. .2 posteriore superiore.
(© Accessorio di fissaggio ................ 1 2. Fare passare i due perni (B) attraverso i fori
(®) Vite TP M3 x 06 in bronzo . .2 delle viti del coperchio posteriore superiore
(F) Etichetta di avvertimento ............c.c...c....... 1 e fissarli alla struttura inferiore.
(@) Piastra di protezione del connettore ......... 1
ol g M /= (RG]
(B DPARAK oo 1 1. A E % B R AT, B SEHUT A AR,
BB 2 RS P 240}
(© TPIELUZ H SRR IR 2 M4 x 10 .2 2. H2AE 4 ® it b i R 22 AL 1 e A
© BRI .1 T L
® TPERHIIRLZLMS x 06..... 2
® FERAFZ e, .1
© BB oo, 1
£z & TER (BUSFIE]
VI N LI\ ® DPZH oo 1) EEEE R ARO SN TVBEAR.
B e 2 RS ZRON L. #EH/IN—DEXR
b LB Ll LT U © TPy T5A boOX—HFEAMAXTO0 ... 2 @) 2Kz,
O = 1 2. EY @® 2A8%Z# EH/I\—DEARITELT
® TPTOYZEAM3BXOB ..., 2 TIU—LICEDRITS.
® FESNI
© ORI FZHRE oo 1




3. Place the DP (& on the main body of the
copier or MFP by fitting the pins (B) into the
holes (2) at the hinge sections of the DP (&
and sliding them toward the front side.

J

4. Secure the DP (&) with the two TP Taptite
chromate screws M4 x 10 (©) and the two
screws (1) that have been removed in step
1.

5. Close the DP (®), fit the fixing fitting @ from
the rear side of the right hinge, and secure it
with the two bronze TP screws M3 x 06 (B).

6. Connect the cable (3) of the DP (®) to the
main body.

* Be sure to tighten the fixing screws on both
sides of the connector.

3. Placez le DP (®) sur le corps principal du
copieur ou du MFP en fixant les goupilles
dans les trous (2) aux sections des
charniéres du DP ® et en les faisant glisser
vers l'avant.

4. Fixez le DP (&) avec les deux Vis chromées
taptite TP M4 x 10 (©) et les deux vis (1) que
vous aviez enlevées auparavant a I'étape 1.

5. Fermez le DP (®, placez la fixation © a
I'arriére de la charniéere droite, et fixez-la
avec les deux vis TP en bronze M3 x 06 (B).

6. Connectez le cable (3) du DP (& au corps
principal.

* Veillez a serrer les vis de fixation sur les
deux cbtés du connecteur.

3. Instale el DP (®) en el cuerpo principal de la
copiadora o MFP introduciendo los
pasadores (B) en los orificios (2) en las
secciones de bisagra del DP &y
deslizandolos hacia el lado delantero.

4. Asegure el DP (® con los dos tornillos
cromado Taptite TP M4 x 10 © vy los dos
tornillos (1) quitados en el paso 1.

5. Cierre el DP (® introduciendo el herraje de
fijacion (@ del lado trasero de la bisagra
derecha y asegurelo con los dos tornillos TP
de bronce M3 x 06 (®.

6. Conecte el cable (3) del DP (&) en el cuerpo
principal.

* Asegurese de apretar los tornillos de fijacion
en ambos lados del conector.

3. Den DP (® auf die Haupteinheit des
Kopierers oder MFP setzen; dabei die
Zylinderschrauben (®) in die Lécher (2) an
den Scharnierteilen des DP ® einfiihren
und zur Vorderseite schieben.

4.Den DP (® mit den zwei TP-Taptite-
Chromschrauben M4 x 10 © und den in
Schritt 1 entfernten zwei Schrauben @
befestigen.

5. Den DP ® schlieRen, den
Montagebeschlag (© von der Riickseite des
rechten Scharniers aus anbringen und mit
den zwei Bronze-TP-Schrauben M3 x 06 (E)
befestigen.

6. Das Kabel (3) des DP (® an die
Haupteinheit anschlie3en.

* Die Befestigungsschrauben auf beiden
Seiten des Steckverbinders anziehen.

3. Collocare il DP (&) sul corpo principale della
copiatrice o del’lMFP inserendo i perni
nei fori (2) delle sezioni di giuntura del DP
® e farli scorrere verso il lato anteriore.

4. Fissate il DP () a mezzo delle due viti
cromata TP Taptite M4 x 10 (© e delle due
viti (1) che sono state rimosse nel passo 1.

5. Chiudere il DP (), montare I'accessorio di
fissaggio (D) dal lato posteriore della
giuntura destra e fissarlo con le due viti TP
M3 x 06 in bronzo (B).

6. Collegare il cavo (3) del DP (®) al corpo
principale.

* Accertarsi di stringere le viti di fissaggio su
entrambi i lati del connettore.

3. fDC ® MAEKENHLEMFPAL L,
%%g)éé?%ijﬁﬁ]&}ﬁfﬂ‘a)\DP ® Hi5 TUAR

4. JH2ANTPURZUE [ 5 IR FE M8 22 M4 x 10 © 01
TEARUHTH2MR2Z @ REDP @),

5. X EDP ®, MG SUKE ME A K E 1 @,
IF F2ATPARHIIRZZM3 x 06 ©) 475,

6. K DP ® MYHLILL @ ERTEAM L.

* S5 B S S PO £ 1] Sl

b8 S €. B
[FMFP (T S124H) MFICDP-®7%
Toph e INET RIS (COMm . Ud /

/‘y

4.DP ® ZTPY w94 hIOX—KER
M4x10 © 2FxBLUFIRT TIDA LT
ERX @ 2ACTEET d-

5.DP ® ZEU. BEYIDRAN SEER
8B @ ZE$iAd, TPTOVIER
M3x06 ® 2ACEET B

6. DP @ @7_7)|J @ %K{$l:}§/ijéo

¥ PRI YEAIDEE Y ¥ I Z AT
[QV /1A




~ 7

Remove the screw (@) from the rear cover
and fit the connector protecting plate (@) to
the rear cover using the screw (3).

The connector protecting plate @) is not
used for the MFP.

8.

Clean the pasting position for the label in a
language (F) with alcohol.

Paste the caution label (F) that corresponds
to the language according to the destination
to the DP ®).

. Retirez la vis (@) du couvercle arriere et fixez

la plaque de protection du connecteur (@) au
couvercle arriére a l'aide de la vis ().

La plaque de protection du connecteur (G
n'est pas utilisée pour le MFP.

Nettoyez la position de collage de I'étiquette
dans une langue (F) avec de l'alcool.

Collez I'étiquette d'avertissement (F) qui
correspond a la langue appropriée pour la
destination du DP (&).

~

. Saque el tornillo (@) de la cubierta trasera y

fije la placa de proteccion del conector (@)
en la cubierta trasera utilizando el tornillo

No se utiliza la placa de proteccion del
conector (G para el MFP.

Limpie la posicién de pegado para la
etiqueta en un idioma (F) con alcohol.
Pegue la etiqueta de precaucion (F) que
corresponda al idioma de acuerdo con el
destino del DP (®).

~

. Die Schraube (@) von der Riickabdeckung

entfernen, und das Anschluss-Schutzblech
(@ mit der Schraube (@) an der
Ruckabdeckung befestigen.

Das Anschluss-Schutzblech @ wird nicht
fur den MFP verwendet.

©

Die Klebeposition fir das Etikett in einer
Sprache (F) mit Alkohol reinigen.

Den Warnaufkleber (F), welcher der
Sprache des Bestimmungslands entspricht,
am DP (&) anbringen.

. Rimuovere la vite () dal pannello posteriore

e inserire la piastra di protezione del
connettore (@ nel pannello posteriore a
mezzo della vite ).

La piastra di protezione del connettore ©
non ¢ utilizzata per la copiatrice MFP.

[oe]

. Pulire con l'alcol la parte sulla quale si vuole

incollare I'etichetta scritta nella lingua della
zona di destinazione ().

Incollare I'etichetta di avvertimento (F) scritta
nella lingua della zona di destinazione del
DP ®.

CHRE SR — BT O, TIZIRET @ K iE

BERERIT © TR L.
MFP_ERfE 8 SR ©.

MR E I INES R @ HAE.

J’KJF_DP ® LW bR RALEE S SR AR

174

e

1
DRGHRESE@IEMP (F0 > 512
) CREALEEN. S

SN ® DD HIF B, 7L

J-)LTERT 2. TAIFICEDEB TS
%é%éﬁ@&%‘ﬁ/\“)b ® ZDP ® (CBhfT
(T2




15mm7

N ©)

[Operation check]

1. Prepare an original @ on which 4 lines (&) are drawn 15 mm from the edges and the center line (¢) is drawn.

2. Set the original (@ on the DP and make a test copy to check the copy image.
At this time, set the paper guide for the original table and drawer to the paper size to be used.

3. If the copy image does not match the original image, carry out the following adjustments in maintenance mode.
* Maintenance mode 070 (sub-scan line adjustment)
* Maintenance mode 071 (leading edge timing adjustment)
* Maintenance mode 072 (center line adjustment)

[Vérification du fonctionnement]

1. Préparer un original (@ sur lequel sont tracées quatre lignes (o) & 15 mm des bords et I'axe (©).

2. Placer l'original (@) sur le DP et effectuer une copie d’essai pour vérifier limage de copie.
A ce moment, régler le guide du papier pour la table d’original et le tiroir au format du papier a utiliser.

3. Si 'image de copie ne coincide pas avec I'image de l'original, effectuer les réglages suivants en mode d’entretien.
* Mode d’entretien 070 (réglage de la ligne de balayage secondaire)
* Mode d’entretien 071 (réglage de synchronisation de bord avant)
* Mode d’entretien 072 (réglage de 'axe)

[Verificacion del funcionamiento]

1. Prepare un original (@ que contiene 4 lineas (b) dibujadas a 15 mm de los bordes y linea de centro (o).

2. Coloque el original (@ en el DP a y haga una copia de prueba para verificar la imagen de la copia. En este momento, ajuste la guia de papel
para la mesa de originales y cajon al tamafio de papel a utilizar.

3. Si la imagen de la copia con coincide con la imagen del original, realice los siguientes ajustes en el modo de mantenimiento.
* Modo de mantenimiento 070 (ajuste de linea de exploracion secundaria)
* Modo de mantenimiento 071 (ajuste de la sincronizacion de extremo guia)
* Modo de mantenimiento 072 (ajuste de la linea de centro)

[Funktionspriifung]

1. Bereiten Sie ein Original (@ vor, auf dem 4 Linien (&) 15 mm von den Randern und eine Mittellinie (©) gezogen sind.

2. Legen Sie das Original (@ in den DP ein, und erstellen Sie eine Testkopie, um das Bild auf der Kopie zu prifen. Stellen Sie dabei die
Papierfiihrung fur den Originaltisch und die Papierlade auf das Papierformat ein, das verwendet werden soll.

3. Wenn das Bild auf der Kopie nicht mit dem Originalbild tbereinstimmt, fihren Sie die folgenden Einstellungen im Wartungsmodus durch.
* Wartungsmodus 070 (Einstellung der Nebenscanlinie)
* Wartungsmodus 071 (Synchronisationseinstellung flir Vorderkante)
* Wartungsmodus 072 (Einstellung fir Mittellinie)

[Controllo di funzionamento]

1. Preparare un originale (@ su cui siano state tirate 4 linee (o) a 15 mm dai bordi e una linea centrale (o).

2. Impostare l'originale (@ sul DP e fare delle copie di prova per controllare 'immagine riprodotta.
A questo punto, regolare la guida della carta per la tavola degli originali e il cassetto secondo il formato carta da utilizzare.

3. Se 'immagine riprodotta non coincide con 'immagine original, eseguire le seguenti regolazioni stando in modalita di manutenzione.
* Modalita di manutenzione 070 (regolazione linea scansione ausiliare)
* Modalita di manutenzione 071 (regolazione fasatura del bordo di entrata)
* Modalita di manutenzione 072 (regolazione linea centrale)

(B ERIA]
L fER 15K @, TEARKPUDIEE #5121 Smm i {i B X452k @, Ep ﬁ]ﬁle 2k ©.
2. FeJai @ EOP) EHATIRAE L, KE TACRSHZENER RS IE
B IR & AEAR G 1 RT3 00 i BEAT B ARGR R/,
3. A @ FIEENE LA RN, DT A BT,
o ZEE 070 (HhmFI R THE )
® AEEE071 (i B (R Fs 19 I )
o e Az 072 (Hnlvir B i)

1 Egm I5Nﬂ£k&$c‘: FREDAIDICER © 148725 |IV/ERE @ ZART .

2.5 @ %DF’(LE‘/ hU, TRRIE—ZBGVEMES LU IE—BERZHEERT D,
Fatzem —v) b( AIDRETA XEDBETHL,
3. J??n ®@ t:lt LH%Q(uXI/D‘ BAF. RDAVTF U RAE—ROFEEES LD,
@ XUFFVAE—RO70 (mJiﬁ%‘?Gxﬂ%)
@ AVTFURAE—RO71 (LLigsd A =T DFEEL)
® XUFFIRE—R072 (Vo —MUBDEE)




®@ @ ®

.

¢ If the operation panel is a 7-segment type:

Maintenance mode 070 (sub-scan line adjustment)

Original @

For copy example (d): decrease the value.

For copy example (e): increase the value.

Changing the value by one changes the sub-scan line by 0.1%.

The larger the value, the larger the magnification of the sub-scan line of the copy image.
The smaller the value, the smaller the magnification of the sub-scan line of the copy image.

¢ Si le panneau de commande est du type a 7 segments:

Mode d’entretien 070 (réglage de la ligne de balayage secondaire)

Original @

Pour 'exemple de copie (d): diminuer la valeur.

Pour 'exemple de copie (e): augmenter la valeur.

Lorsgu’on change la valeur d’'une unité, la ligne de balayage secondaire change de 0,1%.

Plus la valeur est grande, plus I'agrandissement de la ligne de balayage secondaire de 'image de copie est grand.
Plus la valeur est petite, plus I'agrandissement de la ligne de balayage secondaire de I'image de copie est petit.

* Si el tablero de controles es de tipo 7 segmentos:

Modo de mantenimiento 070 (ajuste de linea de exploracién secundaria)

Original (@

Para un ejemplo de copia (d): disminuye el valor.

Para un ejemplo de copia (e): aumenta el valor.

Un cambio de valor en una unidad cambia la linea de exploracién secundaria en 0,1%.

A mayor valor, mayor es la amplificacion de la linea de exploracion secundaria de la imagen de copia.
A menor valor, menor es la ampliaciéon de la linea de exploracion secundaria de la imagen de copia.

* Wenn es sich um eine 7-Segment-Bedienungstafel handelt:

Wartungsmodus 070 (Einstellung der Nebenscanlinie)

Original (@

Fir Kopierbeispiel (d: Verringern Sie den Wert.

Fur Kopierbeispiel (&): Erhéhen Sie den Wert.

Durch Andern des Werts um eins wird die Nebenscanlinie um 0,1 % verandert.

Je gréBer der Wert ist, desto gréBer ist das Abbildungsverhéltnis der Nebenscanlinie des Bildes auf der Kopie.
Je kleiner der Wert ist, desto kleiner ist das Abbildungsverhéltnis der Nebenscanlinie des Bildes auf der Kopie.

¢ Se il tipo di pannello operativo & quello a 7 segmenti:

Modalita di manutenzione 070 (regolazione linea scansione ausiliare)

Originale (@

Per esempio copia (d): diminuzione valore.

Per esempio copia (¢): aumento valore.

Cambiando il valore di una unita si cambia la linea di scansione ausiliare di 0,1%.

Piu il valore & grande, piu & grande I'ingrandimento della linea di scansione ausiliare dellimmagine riprodotta.
Piu il valore € piccolo, piu € piccolo I'ingrandimento della linea di scansione ausiliare del'immagine riprodotta.

o IR{EMIRA 7 segBURT
#5070 (P EiHLRIERE)
ERR @

M EREA (@ I W BEE

N EIREA (o) I i‘“ﬁﬂumxﬁﬁ

LA AR R 0.1%

ARNBE, MR AR A EDE R I A 5, AR BOE R, MR FER AL ED I R S %

Pl S L 8 i

Eh

Eéwﬁ%ﬁm@ﬁ%m;“ﬁ E AN

IC—H2TIL @ DIES : BEEE T2

125w JDZAE  0.1%

WEEE L5 E IX—EROBIEERDEENAE LD, BEEE T2 E IC—EROBEERDEEINS <D,




®@ ® ©)

.

¢ If the operation panel is a 7-segment type:

Maintenance mode 071 (leading edge timing adjustment)
Original @

For copy example (f): increase the value.

For copy example (g): decrease the value.

Changing the value by one moves the leading edge by 0.17 mm.
The larger the value, the later the image scan start timing.

The smaller the value, the earlier the image scan start timing.

* Si le panneau de commande est du type a 7 segments:

Mode d’entretien 071 (réglage de synchronisation de bord avant)

Original @

Pour 'exemple de copie (f): augmenter la valeur.

Pour 'exemple de copie (9): diminuer la valeur.

Lorsgu’on change la valeur d’'une unité, le bord avant se déplace de 0,17 mm.

Plus la valeur est grande, plus la synchronisation du démarrage du balayage d'image est retardé.
Plus la valeur est petite, plus la synchronisation du démarrage du balayage d’image est avancé.

* Si el tablero de controles es de tipo 7 segmentos:

Modo de mantenimiento 071 (ajuste de la sincronizacion de extremo guia)
Original (@

Para un ejemplo de copia (f): aumenta el valor.

Para un ejemplo de copia (g): disminuye el valor.

Un cambio de valor en una unidad mueve el extremo guia en 0,17 mm.

A mayor valor, mas tarda el inicio de exploracion de imagen.

A menor valor, mas temprano es el inicio de exploraciéon de imagen.

* Wenn es sich um eine 7-Segment-Bedienungstafel handelt:
Wartungsmodus 071 (Synchronisationseinstellung fiir Vorderkante)

Original (@

Fir Kopierbeispiel (f): Erhdhen Sie den Wert.

Fur Kopierbeispiel (9): Verringern Sie den Wert.

Durch Andern des Werts um eins wird die Vorderkante um 0,17 mm verschoben.
Je gréBer der Wert ist, desto spéater erfolgt die Synchronisation des Bildscanstarts.
Je kleiner der Wert ist, desto friiher erfolgt die Synchronisation des Bildscanstarts.

¢ Se il tipo di pannello operativo & quello a 7 segmenti:

Modalita di manutenzione 071 (regolazione fasatura del bordo di entrata)
Originale @

Per esempio copia (f): aumento valore.

Per esempio copia (g): diminuzione valore.

Cambiando il valore di una unita si sposta il bordo di entrata di 0,17 mm.

Piu il valore e grande, piu ritarda il tempo di inizio scansione immagine.

Piu il valore € piccolo, piu anticipa il tempo di inizio scansione immagine.

o IR{EMRA 7 segBURT
#isiER 071 ( BIKEIRIBBAIREE)
HER @

MR EPREA (O B B e A

WS EREA (@ I Wi/ EH

1A AR fEE: 0.17mm

B, R R IR A 0 T G VBRI ], 25 s /i e (i, O B S PR 4 ) e R A [

Pl <V Lige 4 e & NG

F*n

e ﬂi}jlb@@iﬁ"* Sl

=52V T) (@ DBE | REEZ TNTD

1T v ITOZEE : 0.17mm

REEZ LD EERGFAGDFIRY A SV ITHNELED. REBZ NI D EBIRFIHAGDRIAY A XV IR LD,




@ ®

.

¢ If the operation panel is a 7-segment type:

Maintenance mode 072 (center line adjustment)

Original @

For copy example (h): increase the value.

For copy example (i): decrease the value.

Changing the value by one moves the center line by 0.17 mm.

The larger the value, the center of the image moves toward the right.
The smaller the value, the center of the image moves toward the left.

¢ Si le panneau de commande est du type a 7 segments:

Mode d’entretien 072 (réglage de I’axe)

Original @

Pour 'exemple de copie (h): augmenter la valeur.

Pour 'exemple de copie (i): diminuer la valeur.

Lorsqu’on change la valeur d’'une unité, la ligne centrale se déplace de 0,17 mm.
Plus la valeur est grande, plus le centre de I'image est déplacé vers la droite.
Plus la valeur est petite, plus le centre de I'image est déplacé vers la gauche.

* Si el tablero de controles es de tipo 7 segmentos:

Modo de mantenimiento 072 (ajuste de la linea de centro)

Original (@

Para un ejemplo de copia (h): aumenta el valor

Para un ejemplo de copia (i): disminuye el valor

Un cambio de valor en una unidad mueve la linea de centro en 0,17 mm.
A mayor valor, el centro de la imagen se mueve hacia la derecha.

A menor valor el centro de la imagen se mueve hacia la izquierda.

* Wenn es sich um eine 7-Segment-Bedienungstafel handelt:
Wartungsmodus 072 (Einstellung fiir Mittellinie)

Original (@

Fir Kopierbeispiel (h): Erhthen Sie den Wert.

Fur Kopierbeispiel (): Verringern Sie den Wert.

Durch Andern des Werts um eins wird die Mittellinie um 0,17 mm verschoben.
Durch Erhéhen des Werts wird die Mitte des Bildes nach rechts verschoben.
Durch Verringern des Werts wird die Mitte des Bildes nach links verschoben.

¢ Se il tipo di pannello operativo & quello a 7 segmenti:

Modalita di manutenzione 072 (regolazione linea centrale)

Originale (@

Per esempio copia (h): aumento valore.

Per esempio copia (i): diminuzione valore.

Cambiando il valore di una unita si sposta la linea centrale di 0,17 mm.
Piu il valore e grande, piu il centro dellimmagine si sposa verso destra.
Piu il valore € piccolo, piu il centro dellimmagine si sposa verso sinistra.

* IR2{EMIRA 7 segBURT
#isER072 (PLIBERIEE)
ERR @

W EIFEA () i i*JJn SEE(E

WA G I WA E

1A Y AR AL 017mm

LB, WRENEG RO E AR, &BDREE, W BRI A B 2 R

&AL G Eew s o)

Jiﬁn

A %L%—@—@iﬁa—'%ﬁ BT
-V T O DEE : BEiEE NI
125w JDZALE  0.17mm

REEZ LFDEIE—BEROEYY—MUENAICER L. REEZ NNFDEIE—BRO Y Y —UENEICEET D,




N ® @ ®

¢ If the operation panel is an LCD type:
Maintenance mode 070 (sub-scan line adjustment)

1. Run maintenance mode 070. If an adequate image cannot be obtained, carry out the following adjustment.
Select CONVEY SPEED1. 2. Original @
(For adjustment of the back side in duplex copying, For copy example (d): decrease the value.
select CONVEY SPEED2.) For copy example (e): increase the value.
Set originals in the original tray and press the Interrupt Setting range: -25 - +25
key. Make a test copy to check the image. Changing the value by one changes the sub-scan line by 0.1%.

A smaller setting value makes the copy image shorter. A larger value makes the image longer.

¢ Si le panneau de commande est du type LCD:
Mode d’entretien 070 (réglage de la ligne de balayage secondaire)

1. Exécutez le mode d’entretien 070. S'il est impossible d'obtenir une image adéquate, effectuez le réglage suivant.
Sélectionnez CONVEY SPEED1. 2. Original @
(Pour le réglage du cété arriere en copie recto-verso, Pour 'exemple de copie (@): diminuer la valeur.
sélectionnez CONVEY SPEED2.) Pour 'exemple de copie (e): augmenter la valeur.
Placez les originaux dans le plateau a originaux puis Plage de parametres: -25 - +25
appuyez sur la touche d'interruption de copie. Lorsqu’on change la valeur d’une unité, la ligne de balayage secondaire change de 0,1%.
Effectuez une copie de test pour vérifier l'image. Plus la valeur de réglage est petite, plus I'image de copie sera courte. Plus la valeur est

grande, plus l'image sera longue.

¢ Sj el tablero de controles es de tipo LCD:
Modo de mantenimiento 070 (ajuste de linea de exploraciéon secundaria)

1. Active el modo de mantenimiento 070. Si no puede obtenerse una imagen adecuada, realice el siguiente ajuste.
Seleccione CONVEY SPEED1. 2. Original @
(Para el ajuste del lado trasero en el copiado duplex, Para un ejemplo de copia (d): disminuye el valor.
seleccione CONVEY SPEED.) Para un ejemplo de copia (e): aumenta el valor.
Coloque los originales en la bandeja de originales y Gama de ajustes: -25 - +25
presione la tecla de interrupcion. Un cambio de valor en una unidad cambia la linea de exploracién secundaria en 0,1%.
Haga una copia de prueba para verificar la imagen. Un valor de ajuste menor hace que la imagen de copia sea mas corta. Un valor mayor hace

que la imagen sea mas larga.

¢ Wenn es sich um eine LCD-Bedienungstafel handelt:
Wartungsmodus 070 (Einstellung der Nebenscanlinie)

1. Fuhren Sie den Wartungsmodus 070 aus. Falls Sie kein einwandfreies Bild erhalten, fihren Sie die folgende Einstellung aus.
Wahlen Sie CONVEY SPEED1. 2. Original @
(Zur Einstellung der Rickseite beim Duplexkopieren Fur Kopierbeispiel (d): Verringern Sie den Wert.
wahlen Sie CONVEY SPEED2.) Fiir Kopierbeispiel (e): Erhéhen Sie den Wert.
Legen Sie die Originale in die Originalablage, und Einstellbereich: -25 - +25
driicken Sie die Unterbrechungstaste. Machen Sie eine Durch Andern des Werts um eins wird die Nebenscanlinie um 0,1 % veréndert.
Probekopie, um das Bild zu Uberprifen. Ein kleinerer Einstellwert macht das Kopienbild kirrzer. Ein gréBerer Wert macht das Bild

langer.

¢ Se il tipo di pannello operativo & quello LCD:
Modalita di manutenzione 070 (regolazione linea scansione ausiliare)

1. Avviare la modalita di manutenzione 070. Se non si ottiene un’immagine soddisfacente, eseguire le seguenti regolazioni.
Selezionare CONVEY SPEED1. 2. Originale @
(Per la regolazione del retro del foglio nella copia Per esempio copia (d): diminuzione valore.
duplex, selezionare CONVEY SPEED2.) Per esempio copia (e): aumento valore.
Collocare gli originali nell’apposito vassoio e premere il Gamma di impostazione: -25 - +25
tasto di interruzione. Fare una copia di prova per Cambiando il valore di una unita si cambia la linea di scansione ausiliare di 0,1%.
controllare 'immagine. Un valore di impostazione piu piccolo rende 'immagne riprodotta piu corta. Un valore piu

grande rende 'immagine piu lunga.

* R {EEHR ILCDEIRY
R 070 (MR IFRERIAE)

1. $uAT4EER070, 2. HER @

#E$$CONVEY SPEEDI1, WS ENREAR @ B I E

(3R XL 2 BRI G A5 TN, %64 CONVEY SPEED2, ) W ENREAR () I: ik

FERE R R AR b, TR, #TRE N, WG -25-+25

DITINEUR SR, B AR B BOR EL A6, W7 o LR AR 0.1%

— LA HWAREME, ORI SaE, SmEd, SmEBmaETK

Ay bou i<

iﬁ%) BIEFERDME SNEWBEIFRDRBEEZIT D,

1. CTIERA T —_I\O7O72¥ﬁ§“%> 2. s @

cO ) 9D =T TIL @ DFE. FREZ N2,

(ﬁﬁm:—ﬁ%@sﬁ%éﬁ%éﬁé%ml& CONVEY :ll:"—*j‘/j)b (e DHH. FREZ EFD,

SPEED27%&IRT D, ) T [ -25~+25

FER LA ICEfEZEY bU. BIDIAHF—7ZIHT, 17\7770) MEE 0 0.1%

FTANIE—ZHTIEV. BIREERT Do REBEZNFDEIE—EHENMELED, REEZ LFDEIE—EERIARLED,




¢ If the operation panel is an LCD type:
Maintenance mode 071 (leading edge timing adjustment)
1. Run maintenance mode 071. 2. Original @
Select LEAD1. o ) For copy example (®): increase the value.
(For adjustment of the back side in duplex copying, For copy example (9): decrease the value.
%elect_LEADg.) - Setting range: -32 - +22
et originals in the original tray and press the Changing th lue b he leadi dae by 0.2
Interrupt key. Make a test copy to check the image. anging the value by one moves_t € leading edge by U.c mm.
The larger the value, the later the image scan start timing.

If an adequate image cannot be obtained, carry out - ; I
the following adjustment. The smaller the value, the earlier the image scan start timing.

¢ Si le panneau de commande est du type LCD:

Mode d’entretien 071 (réglage de synchronisation de bord avant)

1. Exécutez le mode d’entretien 071. 2. Original @
Sélectionnez LEAD1. Pour 'exemple de copie (f): augmenter la valeur.
(Pour le réglage du cété arriére en copie recto- Pour I'exemple de copie (9): diminuer la valeur.
verso, sélectionnez LEAD2.) Plage de parametres: -32 - +22
Placez les originaux dans le plateau a originaux Lorsqu’on change la valeur d’une unité, le bord avant se déplace de 0,2 mm.
puis appuyez sur la touche d'interruption de copie. Plus la valeur est grande, plus la synchron|sat|on du démarrage du balayage d’'image
Effectuez une copie de test pour vérifier I'image. S'il est retardé.
est impossible d'obtenir une image adéquate, Plus la valeur est petite, plus la synchronisation du démarrage du balayage d’image est
effectuez le réglage suivant. avancé.

¢ Si el tablero de controles es de tipo LCD:

Modo de mantenimiento 071 (ajuste de la sincronizacion de extremo guia)

1. Active el modo de mantenimiento 071. 2. Original ®
Seleccione LEAD1. ) Para un ejemplo de copia (): aumenta el valor.
gz%quelsﬂlfggigﬁé 'Egzggs)ero en el copiado cPaara ug ejemplo desgopiengi): disminuye el valor.

’ . : . - ama de ajustes: -32 - +

gggi?)%z Igstgéllglréeél?r?tgrrldgcbigrqdeja de originales y Un cambio de valor en una unidad mueve el extremo guia en 0,2 mm.
Haga una copia de prueba para Verificar la imagen. A mayor valor, mas tarda el inicio de exploracion de imagen.
Si no puede obtenerse una imagen adecuada, A menor valor, mas temprano es el inicio de exploracién de imagen.
realice el siguiente ajuste.

* Wenn es sich um eine LCD-Bedienungstafel handelt:

Wartungsmodus 071 (Synchronisationseinstellung fiir Vorderkante)

1. Fuhren Sie den Wartungsmodus 071 aus. 2. Original ®
Wahlen Sie LEAD1. ] ) . Fur Kopierbeispiel ()): Erhohen Sie den Wert.
(Zur Einstellung der Rtickseite beim Duplexkopieren Fur Kopierbeispiel (9): Verringern Sie den Wert.
wéhlen Sie LEAD2) Einstellbereich: -32 - +22
Legen Sie die Originale in die Originalablage, und Durch Andern des Wert . ird die Vorderkant 02 hob
driicken Sie die Unterbrechungstaste. Machen Sie urch Andern des Werts um eins wird die Vorderkante um 0,2 mm verschoben.
eine Probekopie, um das Bild zu tiberpriifen. Je groBer der Wert ist, desto spater erfolgt die Synchronisation des Bildscanstarts.
Falls Sie kein einwandfreies Bild erhalten, fithren Je kleiner der Wert ist, desto friiher erfolgt die Synchronisation des Bildscanstarts.
Sie die folgende Einstellung aus.

¢ Se il tipo di pannello operativo & quello LCD:
Modalita di manutenzione 071 (regolazione fasatura del bordo di entrata)
1. Avviare la modalita di manutenzione 071. 2. Originale @

Selezionare LEAD1.

(Per la regolazione del retro del foglio nella copia
duplex, selezionare LEAD2.)

Collocare gli originali nell’apposito vassoio e
premere il tasto di interruzione. Fare una copia di
prova per controllare 'immagine.

Se non si ottiene un’immagine soddisfacente,
eseguire le seguenti regolazioni.

Per esempio copia (f): aumento valore.

Per esempio copia (g): diminuzione valore.

Gamma di impostazione: -32 - +22

Cambiando il valore di una unita si sposta il bordo di entrata di 0,2 mm.
Piu il valore € grande, piu ritarda il tempo di inizio scansione immagine.
Piu il valore e piccolo, piu anticipa il tempo di inizio scansione immagine.

* B{EMRHLCDRRY

%071 (AR B G EBRIAE)

1. PATHEBAR 071,
R LEADI,
CJROBU &2 BRI Y T IN, B4 LEAD2, )
¥ R O R AR |, %‘”Tfaﬁ)\%@ HEATIE ER,
Uﬁ%ﬂ%ﬁ% HARBFNERERIE, W7
— 1t

2. HEHE @
WS ENFEAS (O I B E
W ENHEAS (@ If: AU E
BOEWRE: -32-+22 LEMUEAELE: 0.2mm
FYIBEE, WAER IR BRI G A DB (A, B A PG B A 4.

jﬁﬂ-ﬂf%ﬁ% VI D)

1. XVFFVZAE—RO71 7&5%17@“%)0
LLEARZER Y D-

(F@Ejt—ﬁ@%ﬁ%uﬂ;&@“é% &, LEAD2%

ERT D, )

i N A [CERELY MU, BIDAHF—EET,

TARIE—ZHTIF, BERZEZRT 5.

BIEFEIGEHE SUEVEE(IERDAEZIT D,

2. Ffs @
IE—Y2 TV @ DFE. #AREE TS,
IE—H2 7L @ DG, AREEZ TS,
SRTEEHE C -32~+22 1T wIDZE(LE : 0.2mm
SREER LFD EBIRFHAHDRRSY A SV ITHNELTIED. |
EEEFIHABGDERIRY A =V T EL 15D,

REEBZTITS




\_ ©

® @

¢ If the operation panel is an LCD type:

Maintenance mode 072 (center line adjustment)

1. Run maintenance mode 072.
Select 1sided.
(For adjustment of the front side in duplex copying,
select 2sided front. For adjustment of the back side,
select 2sided back.)
Set originals in the original tray and press the
Interrupt key. Make a test copy to check the image.

If an adequate image cannot be obtained, carry out the following adjustment.

. Original

For copy example (h): increase the value.

For copy example (i): decrease the value.

Setting range: -39 - +39

Changing the value by one moves the center line by 0.1 mm.

The larger the value, the center of the image moves toward the right.
The smaller the value, the center of the image moves toward the left.

¢ Si le panneau de commande est du type LCD:

Mode d’entretien 072 (réglage de I’axe)

1. Exécutez le mode d’entretien 072.
Sélectionnez 1sided.
(Pour le réglage du cété avant en copie recto-verso,
sélectionnez 2sided front. Pour le réglage du coté
arriere, sélectionnez 2sided back.)
Placez les originaux dans le plateau a originaux
puis appuyez sur la touche d'interruption de copie.
Effectuez une copie de test pour vérifier I'image.

S'il est impossible d'obtenir une image adéquate, effectuez le réglage suivant.
Original @

Pour 'exemple de copie (h): augmenter la valeur.

Pour 'exemple de copie (i): diminuer la valeur.

Plage de parametres: -39 - +39

Lorsqu’on change la valeur d’une unité, la ligne centrale se déplace de 0,1 mm.
Plus la valeur est grande, plus le centre de I'image est déplacé vers la droite.
Plus la valeur est petite, plus le centre de I'image est déplacé vers la gauche.

¢ Si el tablero de controles es de tipo LCD:

Modo de mantenimiento 072 (ajuste de la linea de centro)

1. Active el modo de mantenimiento 072.
Seleccione 1sided.
(Para el ajuste del lado delantero en el copiado
duplex, seleccione 2sided front. Para el ajuste del
lado trasero, seleccione 2sided back.)
Coloque los originales en la bandeja de originales y
presione la tecla de interrupcion.
Haga una copia de prueba para verificar la imagen.

2.

Si no puede obtenerse una imagen adecuada, realice el siguiente ajuste.
Original @

Para un ejemplo de copia
Para un ejemplo de copia
Gama de ajustes: -39 - +39
Un cambio de valor en una unidad mueve la linea de centro en 0,1 mm.
A mayor valor, el centro de la imagen se mueve hacia la derecha.

A menor valor el centro de la imagen se mueve hacia la izquierda.

: aumenta el valor
: disminuye el valor

* Wenn es sich um eine LCD-Bedienungstafel handelt:

Wartungsmodus 072 (Einstellung fiir Mittellinie)

1. FGhren Sie den Wartungsmodus 072 aus.
Waéhlen Sie 1sided.
(Zur Einstellung der Vorderseite beim
Duplexkopieren wéahlen Sie 2sided front. Zur
Einstellung der Rickseite wéhlen Sie 2sided back.)
Legen Sie die Originale in die Originalablage, und
driicken Sie die Unterbrechungstaste. Machen Sie
eine Probekopie, um das Bild zu Uberprifen.

Falls Sie kein einwandfreies Bild erhalten, fihren Sie die folgende Einstellung aus.

. Original (@

Fur Kopierbeispiel (h): Erhdhen Sie den Wert.

Fur Kopierbeispiel (i): Verringern Sie den Wert.

Einstellbereich: -39 - +39

Durch Andern des Werts um eins wird die Mittellinie um 0,1 mm verschoben.
Durch Erhéhen des Werts wird die Mitte des Bildes nach rechts verschoben.
Durch Verringern des Werts wird die Mitte des Bildes nach links verschoben.

¢ Se il tipo di pannello operativo & quello LCD:

Modalita di manutenzione 072 (regolazione linea centrale)

1. Avviare la modalita di manutenzione 072.
Selezionare 1sided.
(Per la regolazione del lato frontale del foglio nella
copia duplex, selezionare 2sided front. Per la
regolazione del retro del foglio, selezionare 2sided
back.)
Collocare gli originali nell’apposito vassoio e
premere il tasto di interruzione. Fare una copia di
prova per controllare 'immagine.

2.

Se non si ottiene un'immagine soddisfacente, eseguire le seguenti regolazioni.
Originale (@

Per esempio copia (h): aumento valore.

Per esempio copia (i): diminuzione valore.

Gamma di impostazione: -39 - +39

Cambiando il valore di una unita si sposta la linea centrale di 0,1 mm.

Piu il valore & grande, piu il centro dellimmagine si sposa verso destra.

Piu il valore & piccolo, piu il centro dellimmagine si sposa verso sinistra.

* B {EER HLCDERY
#EEK 072 (ML ERIAZ)
1. PUTHEEH 072,
P 1sided,
R UH & EDRY A R MR, 1%+ 2sided front,
P IR, PefE2sided back, )

. HEE @

WA ENFEAR @) B ik (i
W ENEEAR O W W E
YrEE: -39 -+39 1R HAEfLE: 0.lmm

R RCE FUAAE b, B FImASE, T, g B I B T R
uﬁﬁg\@{%&% SRk B RIS, AT Egﬁl}gﬁg M ENE G i RO B A A%, e, WA BB M0
’i‘f’m“f“&fm
X EEOHW) BIEFERNE STUEWVESIERDAEZTD
AVTFURAE—RO72ZRTITH: 2. B @
Ll sidedZ=EERg1 6 e =TT @ DFG. BAREZ ETFD,

(BEJIE— E%@%E’Eéﬁ?ﬁ‘g”_ég%[a?sided front.
EEZHAET BAE2sided backmEIRT 5. )
B AICRfsZEY MU, BIDIAHF—HIRT,
FARNIE—EBIE, ERZHERT .

3 E—orTIL O DEE
RTEHHE © -39~+39 1XTFvIOZELEZ  0.1Tmm
E’i?ﬂ'@zib“‘é EOE—EGDEY Y —MENAICEBEI L.
E—EigD Tt Y —MBIEICEBET D,

. FEEZETTD,
REEZTITHED

10



TCONER -

www tonerplus_ com.ua

2004. 6
303HL81013



